6. Project and change management
Multiple choice questions (learner)
Which one of the following is an internal pressure on organisational change? 
Change in local government 
Change in the rate of inflation
Change in technology systems
Change in environmental laws

[bookmark: _Hlk103004441]Which one of the following is the most likely role of human resources in organisational change?
a. Communicate employees’ preferences for change to management
b. Help overcome employees’ resistance to change through support
c. Keep employee opinions of any proposed internal change on file
d. Ensure employees leave immediately they are made redundant

Which one of the following gives the correct titles of a PESTLE?
a. Political, enterprising, social, technocentric, legal, environmental
b. Political, economic, specific, technological, legitimate, ecological
c. Political, enterprising, specific, technocentric, limited, ecological
d. Political, economic, social, technological, legal, environmental

Which one of the following describes incremental change?
a. Constant tweaks and changes
b. Big breakthroughs in change
c. Changes everything at once
d. Happens in one point in time 

Which one of the following is a component of KAIZEN?
a. Brings in external ideas for breakthroughs
b. Relies on putting employees’ mistakes right
c. Uses employees as the experts on the ground
d. Focus is on major change for maximum impact

Which one of the following is most likely to set out the total quality management (TQM) strategy of an organisation?
a. Quality process instructions
b. Quality policy document
c. Quality record files
d. Quality manual




Which one of the following is an advantage of Kotter’s 8 Step Change Management Theory?
a. Focuses on preparation for change
b. Each step builds vision for change
c. Quick and easy to implement change
d. Works best in matrix organisations

Which one of the following correctly describes a category of Nudge Theory?
a. Opportunities to continue good behaviours
b. Peer pressure to change own behaviours
c. Top-down imposed required behaviours
d. Plant alternatives to current behaviours

Which one of the following correctly describes the core belief of the McKinsey 7S model?
a. Interlinking all elements is crucial to success
b. Each element can introduce successful change
c. Research is vital for each element to work correctly
d. External elements need to be interlinked to each step

[bookmark: _Hlk113726516]Which one of the following is a correct term in the Kübler–Ross change curve?
a. Desire
b. Decision
c. Difficulty
d. Demand
[bookmark: _Hlk103061282]
Which one of the following is the point when a project feasibility study will be carried out?
a. Initiation phase
b. Planning phase
c. Implementation phase
d. Completion and handover

Which one of the following is the term used for a development cycle in the Agile project methodology?
a. Implementation
b. Intervention 
c. Initiation
d. Iteration

Which one of the following describes 24-hour progress updates in SCRUM project management?
a. Daily Sprint
b. Daily Scrum
c. Daily Focus
d. Daily Review




Which one of the following is the correct format for the PRINCE acronym?
a. Projects in controlled experiments
b. Projects in controlled enterprises 
c. Projects in controlled economies
d. Projects in controlled environments

 Which one of the following is an advantage of GANTT charts?
a. All resources shown in a single view
b. Quick to set up and get started
c. Project tasks are clearly visible
d. Show hours needed per task

What is the main feature of critical flow or critical path analysis?
a. It schedules skilled teams to tasks
b. It maps out tasks in sequence order
c. It gives accurate timings of every task
d. It shows costings for each stage and task 


What does this symbol mean in a project management flowchart?
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a. Database
b. Hard drive 
c. Stored data
d. Memory store

[bookmark: _Hlk103066683]Using Pareto analysis, how many of a business’s 200 previous customers are likely to buy again? 
a. 20
b. 40
c. 160
d. 180

Which one of the following is an informal communication network commonly known as?
a. Watercooler 
b. Grapevine
c. Rumour mill
d. Gutter press
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Which one of the following is a definition of validity in project management? 
a. Checks for same results every time
b. Rationale for a specific course of action
c. Logical selection of facts from evidence
d. Accuracy and suitability of research conducted
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